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Mar 05 Q1

In the USA, a leather jacket costs $96.
The exchange rate 1s $1.60 to £1.

Find the cost of the jacket in £
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In France, Chris pays €18 for a meal.
The exchange rate is £1 = €1.60

What is the price of the meal in pounds?
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2 Clive spends €1.84 buying an ice cream in Portugal.
The exchange rate is €1.60 to the £1. Jun 03 Q2

Find the cost of Clive’s ice cream in pounds.
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4 Pauline goes on holiday.
She changes £200 into Euros
The exchange rate 1s £1 = €1.7

(a) How many Euros does Pauline receive for £200?

Nov 03 Q3

3 Bill changes £27 into Swiss francs.
The exchange rate is £1 to 1.55 Swiss francs.

How many Swiss francs does he receive?
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